I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

% 518 FI BiN4 =t ARX|of e

D453 HHgYNHY
BIG BORE HYDRAULIC CYLINDER
B AEHIHAY | v & - / KRBFLEE I

HaE . R4HZ0| 80|
- S QUIR| MA(S5SE : 0172805)

rre

- EL

—- Safety Guaranteed - Easy Repair & Check
- Leakage Prevention Design(Patent Registation:0172805)
* Highest Draw Pull

- REHER - FHERIENE
ORBDSETETEER - B0 7 2BKHED
- R - (EThNFoLHS

- Pttt GERIEMR 0172800 - FJJ5EX

<YAH-05>

¥ Maximum turning speed is based onactual measurment

Specifications /#F&/ R/ AL &

M\;\\specA}% Order NO. Cylinder Dia Piston stroke | Thru hole Dia Piston surface area Max. Draw bar pull
ors ARICIZ | HAEAEZ3  ANUGBEZ T AE EHEA o 2EH 3 KN(kah)
ModeR§A i i () Push2% Pull Q1= Push2t% Pull Q1=
YAH-05 2AH05 97 12 33 579 613 21.8(2225) 206(2103)
YAH-06N 2AHOBN 125 15 46 895 101.5 353(3602) | 31.08(3169)
YAH-08 2AH08 160 20 52 172.8 162.6 65.0(6627) 61.2(6236)
YAH-10 2AH10 185 25 77 2133 197.9 80.2(8180) 745(7590)
YGH-10 2GH10 185 25 82 205.1 190.2 77.2(7866) 716(7295)
YAH-12 2AH12 205 30 91 251.5 235.0 94.6(9646) 884(9013)
‘\\\;\\\\\S\De(zAl‘é Max.operatingpressure Ma>_<pern'ss§)le speed Total leakage Weight GDZ. . Matching chuck
DAL RS k<] Ai%fl ’._‘i¢ %EHI?_J 2f = Moment of inertia =25
ModeBiAl Mpalkgf/cr) r.pom(min™'") £/min kg N-w (kgf.m)
YAH-05 408 8000 30 692 031(0032) CAH-05
YAH-06N 408 7000 30 120 0.74(0.074) CAH-06
YAH-08 408 6200 35 155 1.96(0.20) CAH-08
YAH-10 408 4700 42 230 343(0.35) CAH-10
YGH-10 408 4500 45 292 480(049) CGH-10
YAH-12 408 3800 45 310 569(058) CAH-12




Outward Drawing/4} EUER/ARIEY @ & =

<YAH-06N, 08, 10, 12/ YGH-10>

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X

Dimension//<~H/J%/ x| 4+ &

i B D E F G H J K M N o P Q
YAH-05 125 100 80 65 45 405 98 652 59 37 33 39 405
YAH-08N | 156 180 | 100 80 65 50 108 | 822 74 50 46 53 98
YAH-08 195 170 | 130 90 70 55 120 | 912 82 56 52 60 110
YAH-10 218 190 = 160 | 120 95 80 145 | 1162 107 81 77 85 135
YGH-10 223 190 | 160 | 125 | 100 86 167 | 1212 | 112 87 82 90 154
YAH-12 247 215 | 180 | 135 | 110 95 167 | 1312 | 122 9 91 100 154

oA E L L2 L3 L4 L5 L6 L7 L8 L9  L10max L10min L11max L11min
YAH-05 130 13 915 4 - 25 10 - 1875 | 37 25 12 0
YAH-06N | 1265 & 11 76 55 15 30 11 5 1166 = 34 19 15 0
YAH-08 130 12 885 55 15 30 6 5 1195 | 39 19 20 0
YAH-10 143 12 955 55 15 35 6 5 1265 @ 44 19 25 0
YGH-10 | 1495 | 14 955 55 15 35 6 5 1285 @ 44 19 25 0
YAH-12 | 1625 = 14 | 1085 | 55 15 35 6 5 1415 = 49 19 30 0

MomgA eS| L12 | L13 | L14 | L15 | Li6 i T2 T3 T4 2
YAH-05 187 64 23 | 815 40 6-M8X14 M40XP1.5 M39XP1.5 PT-1/4 M5X10
YAH-06N | 181 75 36 120 40 | 6-M10X18 | M55XP2.0 M52XP1.5 PT-1/2 M5X10
YAH-08 186 81 36 130 40 | 6-M10X18 | MBOXP2.0 M58XP1.5 PT-1/2 M5X10
YAH-10 208 95 36 150 40 | 12-M10X18 | MB85XP2.0 M84XP2.0 PT-1/2 M5X10
YGH-10 217 107 36 166 40 | 12-M10X18 | M90XP2.0 M8IXP2.0 PT-1/2 M6X10
YAH-12 230 107 36 166 40 | 12-M12x22 | M100XP20 = M99XP2.0 PT-1/2 M5X10

* Kl A AIRSE ol elo] HEE 4 UsH T
% Specificalions are subject 1o change without rotice.

Model Description/ElE-5 88/ A BESH /S

YLIH L) - L] YAS [J-0JL]L]

.....................................

Cvlinder Size  Blank | Standard Cylinder Size
CA | Coolant Collector

: Blank | Standard
Cylinder Model A | Big Bore(E&E¥) C | Check Valve Type
G | Great Bore(CH &S &) P | Proximity Switch Type
T | Check Valve + Proximity Switch Type





